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() wvyvrfiacta 150 sifverd yew ke, SACHTG werEl o fefsvary e syt w yergiaese we

TG TG AL . ep——
@) sTee vlen-wwih g e | O
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1. WRAERTE W SR He] et gerH yE R S ?
(a) AT U HEME 4 AT
(b) O e Aomd viaria e
(©) g0 ol Wz
(d) =E-IIR s fafma T
ot 36
1) (), b) ¥ () () (), (o) 1 ()
@) (o () @) (b) s ()

What are the major reasons for consistent increase in the current account deficit of
India ? '

{a) Rising expensive oil import

(v) Domestic inflation due to gold import

{c) FEurocrisis

(d) Volatile exchange rate

Answer Options :

1) @, B and g (2) (@), (b)and (d)
@ (©and @ 4 () and (@

2. yde < Raritet wivg v o ?

(a) ‘U I gRew AtatrEn’ 2013 A o YA HAR e
(b)) “feri sl & e’ 2005 et T T

et I ;

(1) 9 (a) () ¥ (b) @ T @ T
- Which one of the following two statements is correct ?

(a) ‘National Food Security Act’ was approved in the year 2013.

(b) ‘Special Economic Zone Act’ came intd effect in 2005.

Answer Options @

(1) Only (a) (2} Only (b) (3) Both {4) Neither
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3. ‘'®wue’ (Council for Advancement of People’s Action and Rural Technology) 8 maw dean
yrdtor Igren fasrarast w6 w1 6

(a) Wﬂﬁﬁ{aﬂfﬁﬁmﬁﬁ%

(b m%mmwmmmm

e i s e e |

W FmE O W(b) Ol (4)'@@3@'

‘CAPART (Council for Advancement of Peopie s Action and Rurai Technology) is an
autonomous body related with enhancement of rural prosperity. It :

(a) strengthens hands of the weaker sections of the society.
{b) funds NGOs working in the area.
Which one of the above two is incorrect ?

(1) Only (a) © (2) Only (b) (3) Both @ Neither

4. WWWMTO)MW Wwi‘am mmma%qﬁ
v 3red) ?

@ s @) e e

(3) R fw (4) $ERRmr it e

Which is the conference of W.T.O. in which the ‘Food Secunty Bill' was sanctwned for a
specified period ? .

(1) Kankoon conference ~ {2) Doha conference

(3) Urugwey conference - (4) Bali conference in Indoneshia |
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5, ._mmﬁmﬁmmm?
(a) ma@ﬁﬁ%aﬁa%ﬁzwmw wfsore fefie s wvle

A 11 [ATYHER SR,

(b) WWWWWSGWWW yfsers foafeg o €
mmmm

(1) m(a) @ ¥R @) R (4) TR

Which one of the following two statements is correct ?

{a) A Private Ltd. Company can have a minimum of 2 investors, a Public Lid. Company
-should have a minimum of 11 investors.

{b) APrivate Ltd. Company can have a maximum of 50 investors, a Pubizc Ltd. Company
can have any number of investors. :

Answer Options : .. . S _

(1) Only (a) ' (2) Only (b) (3) Both (4) Neither

6. W%Wme%zﬂmmmmwmmm7
(a) wifedt duem
) fada dar
(c) HiXIE a ufEs
(d) SHFEE ST T
(e) ’(HT?ﬁ ERCR
1) (). (), (d), (e (2) (), (b), (), (g)
@) (@ ) () @ 4 (@), ®) () (e

In Maharashtra state which of the following sectors got the highest Foreign Direct
Investment FDI between 1991-2010 :

{a) Information Techng},?gy

(b) Financial Services

(¢} Motor Vehicles and Transport

(d) Professional Managemeént consultancy

{e) Chemicals and Fertilizers

() Drugs and Medzcmes

(g} Textiles

Answer Options : _

® @ 0@ e (2) (@ ®) 0@
@) @ 0 ) (d) @ @) ) ©) (e)
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7. Wi Yeed dra iy e
- drm
(a) 1985-86 3mama frafa €Rw
(b) 1990-93 3w Fa €or
(c) 1991-92 3rmam 13l wor
(d)  1997-02 s Frata o

it T ;

(a) () () (d)
O @ 6 @ 0
() v G G @
@ O v G @
@ @) @) @) @

anfursr Wit
() STV 4TS
@ = fEn
@iy e dhem
(iv) . fadam

Match the following and choose the correct code :

_ Policy

(a) import - export policy - 1985-86
{b) Import - export policy ~ 1990-93
(c) Import - export policy - 1991-92
{d) Import - export policy - 1997-02
Answer Options : |

(@ ® (g (@
O @ @ G @)
@ @) @ @ o
Gy @ v @ @
4y (w) @) & O

Commerce Minister
(i} Arun Nehru
(iiy V.P. Singh
(iiiy B.G. Ramiyya
(iv) P. Chidambarm
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8. uHed swawrsy snfds wWeyran frew wy aed o
(1) wfad s (WB) (2) sy Aot (IMF)
(3) wrfas SR Tikeg (WTO) (4) wufesm w9E@ (EU)

This organisation is considered as the third pillar of international economic relations :
(1) World Bank (WB) (2) International Monetary Fund (IMF)
(3) World Trade Organisation (WTQO) {4) European Union (EU)

9. 1991 WS} WEETET WO da Sl T NS SR ST S ?
(a) & i aRadwefte s
(b) et st o TR
(c) fadelt = faafavarad gaul awor 3aor
(@) e 2o e e e ) e

gyfeft 39T |
1) {a), (b) =7 (o) (2)  (b), (c) 37T (d)
@ (o = (d) | @ (@), ®) () g

' Iri 1991, India faced a severe economic crisis as it had to :
{(a) establish full convertibility of the rupee
(b} sell Resurgént India Bonds
{(c} pledge gold to get foreign exchange loans
(d) physically transfer gold to the lender country
Answer Options :
(1) () (b)and () 2 ®) () and (&)
(3} (© and (@) @ (@) () © and (d)
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10. T Wyl wdEy _ wie ol

(a) e wfeen sdrommEsiE

(b) T GHWN

(c) wrEF | wepy IO
d) urer sEwT wEfas wden die Tar A0

uafdt 9T
1y ) 2 (a), (b) s ()

(3) () 3nfor(d) - (4) (b) snfoT(d)
National competitiveness programme is for .
{a) Women entrepreneurs only
(b) Technology upgradation
'(¢) For small and medium enterprises
(d} Indian firms to face global competition
Answer Options :
(1) ()and ) (@), () and ()
() () and (d) @ () and @)

11, T anfdE dRor (1991) T FROAHT GEetE wow st SewiE TR a2
(a) TRGE T U GG THRHF 15 .
(b) WIRETSHT TTATS HUS AT 45 T ST
(c)  IRATSAT Wb Td Sert WISAT aevl €rgt A 1 freta s slerada 3%
(d) g W v wRaet gaR Pl s @

Wfﬂ"l‘a’iﬁ:
(1) wd =R (2)  (a), (b) snfer ()
(3) I (a) A (b) (4) %= (c) fr (d)

The New Economic Policy (1991) was launched on the background of the following
economic indicators : .

(a) Negative growth in real G.D.P.

(b) Indian Rupee had to be devalued by 45 percent

(¢} India’s foreign exchange reserves had fallen to US. $ 1 Billion

(d) The fall of the Soviet Union had deprived India of almost a quarter of its export

market
Answer options :
1y Allfour (2) (a), (b) and (d)
(3) Only (a) and (b) (4) Only (c) and (d)
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12. Hagem €. v for o gataeen g s widt Qeda s wmive wmsg ?
(1) il St SR FEsTrE A e e
| '(2)' e wft W w0
(3) IR WISAVRRTA Gl
(4) . At SR e
~ What was not included in the second Green Revolution proposed by Prime Minister
Dr. Manmohan Singh ?
(1) /Helping Indian farmers participate in global agricultural trade
(2} Minimise post harvest losses
(3) Improve storage of crops
~ {4) None of the above |
13, vIRaT= W o fasram s yfiver S e ?

(a) o FormTaren Sewred 391

(b) Tt el =t A%

(©) e frderm wlr

) A AR G e AR e w0

.m'sﬂi':

0 @Od @ God 6 @Od @ 660
What role does industry play in the socio-economic development of India ?

(a} to promote agricultural development

(v} to promote employment generation

{c) to alleviate poverty

(d) to develop money and capital market

Answer Options :

1 (@), 0, 2 B 3 @« 4) (@) b)©
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14, S SV SR ST SN TURR ¥ SRS EmE 6% AMe W 2002 7R Aftw
TR TR0l STEOTR BT JaReT FH Wiee Hu g,

() W@ () SR (€ W () TR
it e '
(1) @) ®) () (2) () (9 (@) (d)
(3) (© b)) @ @ © 0 @@

If we take into account the proportion of trade to GDP as an indicator of Globalization
~ then the most globalized countries in the descending order in 2002 were: . -

(a) India (b) America (¢) Japan {(d) Pakistan
Answer Options : |
(1) (@) (b), (c) and (d) (2)  {b) (©) (a) (&)
(3) (e} (b) (@) (a) #) (@ (b)) &
15.  WRATSHAT 2012-2013 1 Fraiea afeeh 3 Frata fom sowen w0 ol wiven e
() W B IF (R (d 3ITE
it 39T

(1) @ () @) (2) (@) (c).(b) (3) () @) (0 4 (0 (@) (@)
The direction of India’s export trade in 2012-2013 shows that the first three top export
destinations in descending order were

(a) China ®) UK.  (c) ‘U.S.A (d UAE.
Answer Options :
0 © W@ 2 @ @© 0 (3) @ @) (© (4) () @

16. AW S P fass Tawi e FETE! Geued YaeT 46w
(@) o wH O i s s s w e
() 4 favdveea 9l ' R frew @
i 3 fauris! o @y SR ?
1) *93 (a) (2) FAS (b) (3) == (4) THE
First systematic attempts of economic planning, in India include :
(a) a book by M.N. Roy titled “Planned Economy for India”
(b) “10 year people’s plan” by Vishveshwarayya
Which one of the above two statements is correct 7 :
(1) Only (@) (2) Only (b) (3) Both (4) Neither
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17, SERHROTHASN F1 Seaed 9 ISR A FA o) weiE w5

(a) T woEd e faerae seriimogd Hreeden w6t g

(b)  rsTrE TR A e SaeoTd Fera it B

(c) SeareAr=n woRd amffen faereR Serierurgd weerian et gl

() e woad aiftfe faerrey seiwond seha st S

werfeft el .

(D) () &) (2) (o) @ (d) (3)  (b) =T (c) (4) (o) =T (d)

The annual average growth rate in employment and production during the post

liberalization period in India shows that :

{a) It was less than pre-liberalization period for employment

(b) It was higher than pre-liberalization period for employment

(c) It was less than pre-liberalization period for production

(d) It was higher than pre-liberalization period for production

Answer Options :

(1) (@ end () (2) (b)and (d) (3) (b)and (c) (4) (a) and (d)
18. wiwardi snfi® guRon wRiEE WauE 9 1991 96 wderiet wE I T

(a) T s v

(b m%waﬁ%ﬁmmm
() RN R0 areciatae

(d) Tocia/ s §ane gur
i e

1) @@ (2) %9 (b) (3) FEw (d) (4) woRE

In the context of Economic Reforms Progamme in Indxa, which one of the following cannot
be atiributed to the year 1991 ?

{a) New Industrial Policy

(b} Raja Chailaya Committee’s Tax Reforms
(¢}  Small scale Industry Policy Implemented
(d} Financial / Banking Sector Reforms

Answer Options :

1) (a) and (o) 2) Only(®) (3 Only(d) (4) None
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19. MWWWW

EL
(@) 1969
(b) 1974
() 1975

(d) 1976-77

@ ® ©
® 6 ®
@ @ o O
@ @ O
@ O @ )

Match the f{')ﬂowing and choose the Cted code T

Year
(a) 1969
by 1974
(¢} 1975

d 1976-77
Answer Options :
@ ® ©
W 6 @
@ @) & 0
G @ 0 @
@ O @ G

{0

@
()
()
()
)

@

(i)
(iv)

12 A

HEHT STt garn
FEL e
fveomt fFem et o<am 39 |

. Amendment in cooperative law

@ .

(&)
(@)

/A

(d)

({iv)

g st
Cadre scheme

Deciding new terms for services

Reservation for SC/ST in management -

Deciding minimum educational qualifications

Topeat. e
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20. e S v vk

| () aig afadt
() geuss uivd

(c) ¥ SrEFs e ufd

() =T it

M G ) 6
@ ) G) @
@ ) @ 6
@ O @ @

@
(i)
@

(i)
(iv)

13

@

()
(iii)
(i)

NOGé

Srenfre R 9T Tgdt
Ay TG
B ER GG

Match t_he following and choose the correct code :

Commitiee

(a) Vanchu Committee

(b) Sundarajan Comxrzi&ee '

(¢) B. Balkrishna Iradi Committee

(d) Dutta Committee

Answer Options :

@ ® (9
®n @ & @
@) () @) (4
@ @) @ @
@ & @ @@

(d)
(i)
®

(iv)
(iv)

)

(i)
(iif)

(iv)

. Work

Measures regarding bankruptcy of
companies '

Industrial Licence Policy

Direct tax system

Oil Sector Revision Committee
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21.

14 A

WERE Hu waieTET ywed st wsfag @l

(a) YT w9 ATl

(b) TSR waa S

(c) V=gl SR ST

(d) arRes FeRm fawr

m 3“1‘ .

(1) % () 2 @) (@) wE(d) @) wH ()
The Maharashtra agricultural competitiveness project is not related to

(a) Debt restructuring of farmers

(b) Private sector capacity building

(c) Access to the markets for farmers

(d) - Market led extension

Answer Options : _ :

(1) Only (a) (2) @ and (b) (3) Only(d) . 4y Only (9

22,

WRardTer fgedr Yeawn Sevaraet ardten q9 it wiowt a8 feft el &t ?

(1 Fu-gaa-afes @ mwm-wﬁﬂ

(3) FHe-wgnd-frerid (4) wfaT-Iewe-1

What were the names glven to the three locomotives that were used to pull the ﬁrst train
in India ? -

(1) Sindh - Sultan - Sahib  (2) Ganga - Yamuna - Kaveri

(3) Vindhya - Sahyadri - Nilgiri (4) Kalinga ~ Utkal - Magadh

23.

siFeresa (UNCTAD) 2011 =81 Wiftrss Travien sigarengant dfvas wa onfor 42 fadel
Tereyee SATTaTEreT Wad YT 2011 T 2013 A1 HIRE WG SIS g
(1) vl Q) gEEn (3) fa=w @ e

As per year 2011 UNCTAD report in global investments, India stands in
increasing flow of Foreign Direct Investment in the period from 2011 to 2013.

(1) First {2) Second (3) Third (4) Fourth
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24. ol foga wTe anfor s faydteator FETEdl AR Seedr mmmmﬁm
Ao’ qEieiE wiv 3w Ted 2
(1) it forge ferarirant veeen greart ffif
(@) o forega e R
¢) ofew Wawa fayn wdwm wd i fagde
(4) AR wvRE T

Which of the following was not an objective of the ‘Rajiv Gandhi Grameen Vzdutxkaran
Yojana’ for Rural electricity infrastructure and household electrification ?

(1) Creation of rural electricity distribution backbone
{2) Creation of village electricity infrastructure

(3) Electrification of all unelectrified BPL households
(4) None of thé above |

25, Wrufid GRS o we welie sl g w0 sravad S |
(@) @ W A SR fEAT g e e T uew SIAvE ST
(b) A TAHEIS Ged HSTT § OGRS ShRE Yok Tebar JefteAn T srEr
(@) e fee e T e S -
(d) o TaET e TEM S S A
v ER: | | |
O @I @ ®OId. G @QOI9 @ FHaw
A Primary Agricultural Credit Society (PACS) has to fulfil the following norms :

(a) PACS can be set up with ten or more persons belonging to a village.

(b)  PACS obtain their working capital in the form of entrance fees and deposzts fmm
the members. o

() PACS give credit to the farmers at concessionai rates of interest

(d) PACS should give credit to small farmers only |

Answer Options _
{1) (a)and (d) (2) (b, and(d) (3) f(a), (b)and{c) (4) - All above
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26. SngrErd A et 1970 R sers Juad) v drefavaredt fady s sifawn
Ay e well. o ol st we - '

'('1) FrE gavi A - (Z)IIW&WIW
(3) EfETE de (4)  Teaas G

International Monetary Fund started speciai drawing rights scheme in 1970 to address
-the problem of international liquidity. The scheme is also known as: - :

(1) Paper gold scheme {2) White paper scheme

(3) Green card scheme B (4) Silver card scheme

27. wm%mﬁﬁwmm?
(a) R ufkel foee Aerad weer O TaEmed 3 A9 e e,
() Srefar Pravea T 1895 - 1900 Wl e feen ) W Sed semyend SewT et

wafdt 39t
(1) FE@ () 2) ¥ (b) (3 @ R

Which one of the following two statements is correct ?
(a) India’s first District Central Cooperative Bank was established at Zang in Punjab.

(b)  Fredric Nicholsan in 1895 - 1900 suggested establishment of cooperative societies in
India as they were established in Germany.

Answer Options :

(1) Only (a) {2y Only (b) {3) Both (4) Neither
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28. Tyl swdirem Wi ‘g Sodi 96 B9 SIRIEYEE AEEE EUE e TSRS
A W TNT § meEuwEa oo Oy few gR. guwoEr g anr glar st
STToTd 7T T AT HRT R,

(a) TS T

b

(© %(wﬁmﬁmm

(d) sfster

1) (@) = (o) 2 () wx @) @t @ (@), @)

According to the Planning Commission, “the reforms also had medium term fiscal objective
of improving public savings so that essential public investment could be financed with
smaller fiscal deficit. This part of reform strategy was unfortunately never implemented”.
It was due to : :

(a) Larggr public debt

{b} Hzgh rate of interest

(¢) Negative public sévings
{d}y Globalization

Answer Options :

(1) (a)and () ) (Gonly (3 (B and(d) 4) (@) (b) and (c)

| WS HIURNE W /SPACE FOR ROUGH WORK
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29,

18

Grefteris! SO HHer WeEw T W qrieRt Weawie 378 7
(a) o1.3NF. Fiwr-aT- gl U

(b) s.NTEEL. SiT-TeTh w=- T TeE Wi-geialE Hu

() 3N, - - a- giaRa w0

(d) i.siah. sier-Aes Sg-ara

() HmmE W»m@mﬁmmﬁam |

waiEt I ' |
1) (@), ®) () (@ - (2} @ ®) (D
(3) W (a) _ (4) =ds wd

Which of the following concepts indicate/ mdxcates Public - Private Partnershlp ?

{a) BOT - Build - Operate - Transfer

(b} BOLT - Build - Own - Lease - Transfer

(¢) BOOT - Build - Own - Operate - Transfer

{d) BOO'- Build - Own - Operate

(e} BLT - Build - Lease - Transfer

Answer options : |

1) (@), () (c) (e) | @ @b
(3} Only (a) (4) Al the above

30.

() dgEen |
(b) < T wd

() e WY

(d) oo wfem

et 39y :

(1) @b (2 @erd) @) @) (e @

The credit linked subsidy is provided for
(a) Technology upgradation

(b} Purchase of plant and machmery
(¢} Purchase of raw material

{d} Training of labour

Answer Options :

(1) (a) and (o) ) .'(C) and (d) (3) (b)and (9) (4)

(_c) B

{c) only
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T 1949 =7 T I Wit qa I AiwearE! S gga quted ?
(a) Freoes s vt () P e ygd

) T ugd @ e T v

vt 39T

@ () b), () =T (d) T} (2) FAS (d) TR

@) (a) F (b) T @) Fa (b) TN

What method of measurement of National Income calculation was suggested by the
National Income Committee of 1949 ?

| (a) Net product method (b) Net income method

{c) Expenditure method (d) Per capita expenditure method
Answer options : |

(1) (a), (b), () and (d) are correct  (2) Only (d) is correct

{3) (a) and (b) are correct (4) Only (b) is correct

32.

wRaTe areefTeE femter Jemr i yrper wrefle e aiE o R

(1) (2) WM (b) a‘mwﬁxwﬁ (¢ wHer afvr amfaes S
@ () GUEE (b)) EEEE () Hafors deen

@) (@ wrwm () =i (@ dm

@ (@ woEE (b)) wEfEE ¥ (c) e S

Following three areas constitute major part of employment generation in public sector in
India .

(1) (a) Mining (b) Electricity and water (¢) Community and social services

(2) (a) Mining (b) Small industries {c) Educational institutions
(3) (a) Mining (b) Electricity {c) Defence
(4) (a) Mining (b} Social services {¢}) Police Administration
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33,y 9 faamiet wive oy o )

() 2013-14 7 frwraei swiew afgen g g ofufre swrama Yeme e
Tegerqie HiaReE | IR WaR i Suswaier qEy 24, '

(b) e ¢fn waem a1 ifew fa. @, ofeem o= der goiearis) (CPSES) T SWHEY B

i Fe

(1) ¥ (a) (2) e (b) @) (4)
Which one of the following two staternents is correct ?

(a) National Mineral Development Corporation and Bharat Sanchar Nigam were among
the top five profit-making Central Public Sector Enterprises in 2013-14 ?

{ty State Trading Corporation of India Ltd. was among the top loss making CPSES.

Answer options :

(1) Only (@) @ Only ) () Both (4) Neither

34.

mﬁﬁ@m@ﬁwﬁm@maﬁmnwommwﬁmﬁmm
o 17 3. A1 dewty yEie B St £l faum w2

() T 2011 1 SEIORYHI O F Sy Al S aREs R 318 o

() EM 2011 o SRIMER BHETE 9 SOUES afdt s et v 199 o,

i S
(1) 9% (a) @) FE2 () @) (@) TR

Population density for Delhi has been the highest at 11320 while being the lowest for
Arunachal Pradesh at 17. In this context which one of the following two statements is
correct ?

(a) As per 2011 census the density of population of Gujarat and Andhra is the same at
318.

(b)  As per 2011 census the density of populatlon of Chattisgarh and Uttarakhand is the
same at 199,

Answer options :

(1) Only (a) (2) Only (b} {3) Both (4) Neither
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1. Fgest wi el dragrrh den fraem desren il Sw g FR, .
(1) amed forgror sufer sidraeds @Eler goEy R,
(2) AL ISP TeiaR weial Gaas Sie.
@) =med fyoard woft snfor sinen gwten swralie Tt quEY SR,
(4) mwmw,mmmmmm

Prof. Tendulkar’s figure of poverty head count is higher than Planning Commission’s
estimate because .

{1) Itincludes the expendifure on education and health.
(2) It includes the expenditure on migration for employment.

(3) Ttincludes the expenditure on drinking water and better quality of food.

{(4) It includes the expenditure on family welfare, health and education.

36,

Gt e e e e |
(2) 2008 I T oW UY W fam 9w oiftey e dieuedet an g,

(b) wmmeff sRerradter T 30,000 R Saeay W sSRiAE g 4 srRiEE g
3R,

waiHd I
(1) %9 (a) () FES (b)) @ A (4)
Which one of the following two statements is correct ?

{a) The Rashtriya Swasthya Bima Yojana introduced in 2008, is applicable to the BPL
population.

{v) - The beneficiaries are entitled to hospitalization coverage upto ¥ 30,000 for four
household members for most of the diseases,

Answer options :
(1) Only (a) (2) Only (b) {3) Both ' (4) Neither
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37. WA THade dISHd (1980-85) TEIEIUw! SN SUSTIRIE ST 99UR HYvarg et ?

(a) o Sdemr

(b) wrie feerdidier SUerd
© ifem feaiier SRR
(@ ot fedter SAsmR
Tgiet I

(1) () (b) SO (c)

@) @, @ )

Which of the following estimates of unemployment were made during the 6t five year

plan (1980-85) :

(a) Chronic unemployment

{b) Weekly status unemployment
(c) Daily status unemployment
(d) Annual status unemployment
Answer options :

(1) (a) (b) and ()

(3) () () and (d)

22

@

(b), (©) 3nf¥1 (d)

(4) wE IR

@)
(4)

(b), (c) and {(d)
All the four

38.

wefferden! far YR dern sear
(1) unit wW e
(2) s T A
(3) oA wREag FH o
(9 whatR wd T

Identify the noh—empioyment scheme from the following :

(1} Rural Works Programme
{(2) Area Development Scheme

(3) Integrated Dryland Agricultural Development

(4) None of the above
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39, wsfe Sudte wye usEeE waitel seforawen Radeomad! wete Sen greErE
L g 7

(1) &Y= R e g
(2) SEIRREA H’T\?f By

(3) IqEey WHE Ay R
(4) SAEEEE Se

Which of the following instruments is used as one of the major fiscal functions of the
public sector in stabilising the economy ?

(1) | Expansion or contraction of taxes |
(2) Raising debt. from the market
(3) Proper distribution of available resources

(4) Changes in the interest rates

40. ST BEE 2013 98 FEH Issaﬁmvmﬁﬁmn“&mwwwmmﬁ
TErE Yl Hel IR, I FHeo WG

() foouaw e (2) el e IR,
(3) HrEET ¥ R (4) TwIE W,

Enactment of section 135 of the Companies Act 2013 making Corporafe Social
Responsibility {expenditure} mandatory for large and profitable companies India became

the :
(1) third country to do so. (2) fifth country to do so.
(3) seventh country to do so. {4) only country to do so.
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41, A S SEHERE e SR S ?

(a) R @ AR (b) SRR HI
() wTIHIFT (d) iR sieferrsen
it et ;

1) (a) 507 (b) @ () () efr(d)
3)  (a), (o) = (d) (4 e

What are the major causes of income inequality in India ?

(a) | Private ownership of property  (b) The law of inheritance .
() Tax evasion (d) Parallel economy '
Answer éptions : | |

(1) (@) and (b) (2) (o) (9 and (d)

(3) (a), () and (d) (4) All the above

42. 1, 1999 usd @l S T T AU Ao @ SATF A G FOAE I, o
gretada! Hior Jreen faet woamn et = ?

(1) e e e
(2) ey faER A

| (3) Sawers AR TR

(4) v FEor A

Which one of the following schemes was not merged in Swarna Jayanti Gram-Swarojgar |
Yojana started on April 1%, 1999 ? :

(1) Integrated Rural Development Programme
(2) Million Wells Scheme

(3) Prime Minister’s Rojgar Yojana

(4) Ganga Kalyan Yojana |
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43. weAedl s difgs | vatqugs WWWWWWWW
(1) @ s gﬂfm ) émﬁaﬁ'@maﬂﬁm
() whe 3 @ A
Which of the following monetary tools have the same effect on the expansmn of money
~under monetary and credit policy of the central bank ? ' : '
(1} Cash Reserve Ratio (CRR) (2) Statutory Liquidity Ratio (SLR)
(3) Both the above (4) Neither of the above '
44, yEE € fauritet S g oM ?
() G TTFHRERT T YRl TaAvE 7AiE T 23 5 W AR
(b) wmnmwwm ¥57 10 % amE.
1) F@E @ FWEE @ T () TE
Which one of the following two statements is correct ? - _
(a) . For manufacturing enterprises investment-limits-for medium projects. 1s T2t05
crores, e e L
(b} For service enterprises irzvestrf;er;t 11mzt for. medzum pm}ect is¥5 to .10. cz:';res.
Answer options : T T
(1) Only (a) (2) Only (b) (3) Both .. - (4 -Neither
45. = e fagiarie qrfte
MV=PT _ 1%“[-? mf‘m‘é S
() TREEwiEe () e e
(3) FAfgETR wHiEw ) T e

In quantity theory of money the equation :

MV =PT is known as .

{1} Robertson’s equation {(2) "Mai‘shaii’s; équatiozi |
(3) Keynesian equation (4) Fisher’s é&ﬁ'éﬁen '
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46. redr SeEd GFd T w0
e faamg wees TATGAT g
(a) TERTE F91 @R faery ngrees @) ufie 1997
(p) T wresuR fawrg wRnies () fedaw 1997
(@ e e frr e S st ises
(d Mwmaﬁﬁmw (iv) SETd 1996

gt vt ;.
@ @@

O (v @) (@) (i)

2 @ @) @ dv)

@) @ v 6 @

@ O @ @ v

Match the following and choose the correct code :

Irrigation Development Corporation Year of Establishment

(a) Maharashtra Krishna Valley Development iy April 1997
Corporation

{b) Vidarbha Irrigation Development Corporation {ii) December 1997
(c) Konkan Irrigation Development Corporation () August 1998

(d) Godavari Marathwada Irrigation Development  (iv) January 1996
Corporation

Answer options :

@ ® © @
M @ O 6@ @
@ o @ @ )
@ @ ™ O )
@ © @ @ @
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47. @y yaky fae
F7 GUHRE TEHE AT R0 s A g
(a) il wtor S (b) ST wwtog e
() oTE FERAIT e () e Frafe e o=
LRl -
(1) (a) S (b) (2) (o) T (d)
®) (@) () 3 (d) (4 e W
Choose the correct option :
What factors are included in the Central Government's Capital Income ?
{a) Income from internal debts. (b) Income from external debts.
{¢) Income from small savings. (d) Income from provident funds.
Answer options :
(1) (a)and (b) | @ (©and(d)
(3 (a), (©) and (d) (4) Al the above
48, WHEm * W H .
(a) FHTA IEAR F
(b) Fo=uisur T yrdte w1
() i STty w
(d) wHy=aien JorgiEt wT
gt e
(1) (a) & ) (a) F(b)
@) (@) () A (o) @ (@, ®) () P (d)

The corporation tax is a

{(a) tax on income of companies

(b) tax on total receipts of the company
{c) tax on turnover of the company

{d) tax on donations of the company
Answer options :

(1) (a) only (2

@) () (b)and () @

(a) and (b)
(@), (b), () and (d)
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T S T TR Tawi SR EAE o |
(a) e o Teva Tu wHwE
(b) @ gaR frw
(©) sfeus afga siiiem
(d) orTe e ufay S

watdt @y ;
1) (@ ®) @ oo @) (@), (b) (d) (9
@) @ @b @ @@ k)b

'Arrange the following enterprzses in terms of real investment in a descending order
(a) 0Qil and Natural Gas Commission

{b) Bharat Sanchar Nigam |

(c) Indian Oil Corporation

(d) NTPC

Answer options : T o

@ @ 0)© @ 2. @®@
(@) @ © @ b 4 (@) @), @© ®

50. UNDP =11 9a sy swamemyal (2009) 1@ie 9F fauride o amg @t 2 -

C (vIRETET 3T STNET 63.4 9 Yie wiRwad! eaRard (2007) 66 B

g () i, o, W, S, ST A e sy SR 2007 AR 84 B

(b) T TuE WE R Takerl 2007 HEY gAR 99 Bt

i sy

() +9% (a) @ m (b) @ @ @‘é% et

As per the Human Deveiopment Report (2{}09) of the UNDP whzch one of the foiiowmg
two statements is. not correct .7’

(Life expectancy for India was 634 and Adult hteracy % (2007) was 66)

J (a) . An average life expectanty 2007 for UBA, UK, France, Japan, Canada was about
84.

(b) Adult literacy percentage 2007 for the above countries was about 99

Answer options :
(1) Only (a) {2) Only () (3) Both a {4) Neither
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51. wRaen el JaR Ty uws __ emw
(a) oTARE o () .
(© o (@ e i
it e -
(1) (o) @nfvr (d) @ (a) 3 (o)
@ GEmE @ @em

For India’s BPO (Business Process Qutsourcing) Services, the main two consumers are

vt ¥

{a) USA. {b) Japan
(¢} Germany ' (d) Western Europe
Answer options : |
(1} (a) and (d) | (2) () and (0)
(3) (b} and (d) 4) (c)and (d)
52.  2007-09 41 H@W g i e wnedt W gegEd 100 e e
(a) ¥ (b) g (c) wEwg () T
it sy
(1) (a) 3nfr (b) (2) (a) T
@) (@) b) (¢ 3 (d) | 4 (a3 ()
The maternal mortality rate in 2007-09 was below 100 in the states of and
(a) Kerala (b) Tamil Nadu (c) Maharashtra (d) Gujarat
Answer options :
(1) (a)and () (2) (a)only
(3) (@) (b) (c) and (d) (4) (a)and (c)
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53.

30 : ' A

wirferes %A fava fasrg ergaren (2010) e yeler 9 favmidest wod dirg o ?

(a) Tormermiier syeferaararel! fagarst GuR 83% eieraea 302 o ot = GAR 38% W@

(b) AT R 3w fawerdia sredoraen guifam.
H’ﬂ‘f‘ﬂ’i‘aﬂ"l‘: .
(1) ¥ (a) @ ¥ (b) (@) @ R

Which one of the foiiowmg two statements about the World Development Report (2010)
of the World Bank is correct ?

{a) Developing economies compfise about 83% of the world population but account for
about 38% of the World Gross National Income.

(b} Some of the countries of Furope also come under developing economies.

Answer options :
(1) Only (&) . (2} - Only (b) {3) Both {4) Neither

54.

Waﬂa‘fﬁmamﬁaﬁa 1991 5T el U WY 9T WO

(1) e g TUM ST o,

(2) U =R IUN SETRST igest 7 fiai awg same? ferea

(3) UERERT T T werfET

(4) - wizael sy s w ) B T

One of the changes in the industrial structure of Maharashtra post - 1991 was

(1) Increase in the consumer goods indusiries

(2) Transition from consumer goods industries to capital goods and reprocessing
industries

(3) Privatisation of consumer goods industries.

{4} Reduced share of capital goods industries

ool WINEIEl W /SPACE FOR ROUGH WORK
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55. sfefe ssmo fivedraet s s gesE ey 7R,
(a) SR W THEA (b)  HS-HHIFT VIR &%
(o) v=w oW uREd (d) T T T
TiHt IEY
(1) (o) w1 (2)  (a) 3T (b)
@) (), (b) 30T (d) @) (o) = ()
The fundamental criteria used for identifying industrial sickness is
(a) Recurrence of cash loss (b} Increase in debt-equity ratio
{¢) High labour turnover {d} Reduction in networth
Answer options :
(1) (a) only ' (2} (a) and (b)
3) @), (b)and (d) 4 (b)and ()
56. g faamisn fEr w1

(a) TS SRATE Yigw SAHHET 28 WaR), 1948 €1 AR.F. woqW 9g} I Hisen
(by NaT ala S JTduEwTT yiEvarar W Stedwst fiuwst du ai e

() WO TS wHA wE yrey siefeEmey 16 A€, 2012 Ush Wi

Tatdt T ; |

(1) (a) T, (b) 310 (c) 9%

(@) ol ad qiw

(3)  (b) T (c) T
@) (a) 3T (b) ST TR
Consider the following statements :

{a} R.XX. Shanmukh Chetti presented India’s first post independence budget on
28 February, 1948,

() Presenting budget for the highest number of times is recorded in the name of the
finance minister Morarji Desai.

(c) Pranab Mukherji presented his 5t budget on 16 March, 2012.
Answer.options :

(1) (a) is correct (b) and (¢} are incorrect

(2}  All the above are correct

(3} (b} and (c} are correct

4) (a) and (b} are correct
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57.

| 32 A

AT T T SR SRS S Heni (2011) T S fauridE FR swi

(a)  wEE AEEEN T F TR, ®Hal 9l FU A ¢ sieam g fraer 5t
v g da i g 9 T EEe,

(b) W 2011 B SFTTOYHIG HeAfes & TorE wedie elwden Feeny el (<8 e
FH W) TR,

it 3
(1) F9% (a) (@) %E®(b) (3), & 4) wwd T
Which one of the following two statements is incorrect in terms of the population of the

states and the Union Territories 2011 ?

{a) Lakshadweep has the least population. Thereafter the order of increasing population
is : Andaman and Nicobar Islands, Daman and Diu and Dadra and Nagar Haveli.

(p) Karnataka and Gujarat have almost the same population (difference of less than ten
lakhs) as per 2011 census. .

Answer options :

(1) Only (a) (2} Only {b) (3) Both (4) Neither
58. I WA o Ao d &R o

(a) TRISHT SCTEE GEY G Bed gRiad )

P S

(¢) O IR

(@) T yufag Jawd

uaidt Sy . x

(1) (a) 3 (b) ) (@) () = (c)

(3) (b) ®d | 4) @wN

Integrated rural development program is for _

{a) Transferring productive assets or skills to the poor

(b)  Self employment

(¢) Wage employment _

(d) Drought affected farmers %
Answer options :

(1) (a) and (b) (2) f(a), (b) and (c)

(3) (b)only 4 @only
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59. et BN fauitE) SR dre R ?
(a) FUASLL. = (2014 =) WS Ferehr SHEATengaR, Tenae Feuiwr e 152 Sxasd sidr]
127 1 ShAIh SAFTAL.
(b) I JgATETER e fawme e YR 187 T 165 & AR,
it 3Nt
(1) 9 (a) (2) 98 (b) (3) aer (4) T=ETE
Which one of the following two statements is correct ?
(@) According to UNDP Human Development Report (2014), India ranks 127 out of
152 countries on the Gender Inequality Index.
(b)  According to the same report India ranks 165 out of 187 on the Human Development
Index.
Answer options :
(1) Only {(a) (2} Only (b} (3) Beth (4) Neither
60. TBRIST T § eI RUEl IRjEIH A1 YR STEEAT.

(1) e, g snfn refadel

(2y 8, e s T

3y forrd, wieergy snfot |

(4) o, Tusarer snftn wrdw

Dal and oil mills in Maharashtra are mostly located in
(1) Bhandara, Gondiya and Gadchiroli

{2) Thane, Raigad and Ratnagiri

(3) Vidarbha, Kolhapur and Satara

(4) Vidarbha, Marathwada and Khandesh
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61, wRarH Wrewen 3 fasn aeien dewie g < faumidsl Svr 9 o ?
(a) <O G SeH LKA W9 1971 (1961-1971) YT Haa $u e,
(b) TREAETR T 1961 Ned WA SRS a5a cabarda gan sife afeen,
qaiEt get

(1) & (a) @ FBEH . @) o= (4) THd T
Which one of the following two statements about the population and its growth in India
is correct ?

(a) The percentage change in decadal growth has been continuously negative since
1971, (1961-1971)

(b} The percentage change in decadal growth has been highest post-independence as
noted in 1961.

Answer options :

(1) Only (a) (2) Only (b) (3). Both (4) Neither
62. BPO ¥ &t Rt S A
(1) st

(2) HTUE SEET

(3) wifilt 5 i Waifea

(4) weiyT q sfifel

BPO (Business Process Quitsourcing) services are a sub-component of
(1) Trading services

(2} Computer product services

(3) Information and technology related services

{(4) Research and engineering services

63, RGN ¥R dwiwla SaRARE weifaw TR srer v wwien weum
= GY FH .

(1) @ (2) @ @ @

The largest amount of public expenditure in the form of subsidies as a percentage of GDP
is on .

(1} Rice - (2) Kerosene (3) Fertilisers (4) Electricity
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64. waEE fby o nrha % W,
() T | (b) v IR
(© @ vy qoi | () srereE T e we
atdt S ;
(1) () 31 (c) - (2)  (a) 30T (b)
@) f(a) T : @ @ O ©
The control of inflation is done through
(a) Repo | (b) Reverse repo
(¢) Cash reserve ratio (d) Borrowing from IMF
Answer options : | "
(1) (a)and () (2} (a) and (b)
() (@) only W @6
65. mwm@%mam A TR A TS AR 2011-12 T

et e

(@) e () T
e T

O @ @ 6 © @
3) @ 0), @) © @)

) ¥

(d) wleE

© ©) @) @
© @ @, ©

If the states are arranged in descending order on the basis of BFL. population the order in

2011-12 was : .

(a) Maharashtra (b) Gujamt
Answer options :

O @@bog (2)
@) (), ®) () 4)

{c) Kerala {d) Karnataka

() (), (a), (d)

), (@), (d), (B)
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66. @ﬁéwﬁwﬁammﬁwmzmom%mmﬁﬁmamm@
evifaet - -
O, BT, W, IR, deteadl, IY, H™
(1) w9, T, HE 2) T qigE e
(3) g, Ty, et @ PE, @, R

From amongst the following food grains name the three that have shown the maximum
percentage rise in production from 1970-2010. '

Cereals, Pulses, Rice, Wheat, Oilseeds, Sugarcane, Cotton.
(1) Sugarcane, Wheat, Cotton (2) Wheat, Rice, Pulses
(3) . Cotton, Wheat, Qilseeds (4) Cotton, Pulses, Wheat

67. &1 2007 Aed Eie smuraiE SRR 9 o goa st gean we.
(a) “m b () weurd (d)
it 39 |
O @bd @ @ 00 @ ® . @ 4 @ ©d

Food security mission was launched in 2007 with the following components.
{(a) Rice (b) Wheat (¢) Pulses (d) Jawar
Answer Options :

1 @ ®b).d) 2) (@ ®)© @ God @ @0d

68. THT (NAFED) 3 w1 wA,

(a) WeHR fagom | () T s

() femr sl (d) = W=
vt 3 ;
M @ o @ @ e
G) @ o) @@ CRNURCELLICY
NAFED functions as

(a) Cooperative marketing (b) Government Agency
(©) Insurance agent (d) Facilitator for contract farming
Answer Options :

1) @ O - @ @ (b)and (o)

(3) @, (), (c) and (d) 4) ®) () and (d)
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69. TEier & TrwrTitert wivid W AR 2
(a) e Tfe s o wdvem w9 1997 =0 HrFelt forehTd TRETeTd TR shetl TIe.

(b) TE T e, TR, TS § gicaren € waiq s=g urr fawm vl st afeel
HR T 3R :

1) %9 (a) 2) ¥ (b) (3) =& 4) Hd e

Which one of the following two statements is correct ?

(a) Human poverty Index was for the first time presented in the Human Development
report of the year of 1997,

(b) Kerala, Maharashtra, Punjab and Haryana are the first four states with the highest
HDI among the states.

Answer Options : :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

70. SIdE SR W Jaifaeasd HU HIorat wRaE omed ?
| (a) SRR TV SUTH HEA QI
(by eriwte wEErS P
(c) fFrela srgem Fra
(d) ey g wafad
it 3oy | |
1) (@ (© @ @ @ @ @) () ©) @ @ @ 0 ©
What are the provisions in Agreement On Agriculture (AOA) under the WTO ?
(a) Providing market access
(b) Regulating domestic support
{c} Containing export sttbsidies
{d} Ensurihg fair practiceé
Answer Options :

1 (@) (© 2) (@) (© (@) @ G © @ @ @ 09 \

e ST St /SPACE FOR ROUGH WORK
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71. wd YaaiiE dsEmer $v e wE @i _ A €.

(a) O Tereant Qe

(b) TFRE AR ol

(c) e formame

) Fers w

1 @ © h | @ @@ Aoy

3 @ b, d (4) () () @

The strategy used through five year plans for agricultural development included

(a}) Agricultural extension services

{b) Favourable terms of trade

{c) Expansion of irrigation

{d) Institutional credit

Answer Options : _

O @6 @) (@) (9and(d)
@) (@), (b)) @ (®) @ @

72, WS §ie fave 20%2007%@3@5:%@@@3&3@@@%@% R
(1) g errerdtarte & aefe
) mﬁwﬁwmmﬁvﬁﬁmWW"_'_'
@) TFE e .
(4) fawmgﬁumfamv
3 T S s |

National Bamboo Mission was launched in 2006~2007 w:th the following unportant activities
but for one : _

(1) increasing area under bamboo cultivation

(2) mass production of quality planting material of all the spemes
(3) development of human resource '
{(4) development of marketing facilities

Identify the activity. -
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73,  anfifs famm anft wafawe gmdte |6y SRavRa TRarE 9@ S 2
(1) vl fefee =% TEas
() st Axfe =% e
() wafEReia o] o Tieas
(4) vl FEACH o e

Which is the hypothesis that indicates the relationship between the economic development
and the environment ?

(1) The Environmental Phillips curve hypothesis

(2) The Environmental Marshall curve hypothesis

(3) The Envirorunental Pigou curve hypothesis

{4) The Environmental Kuznets curve hypothesis

74. mﬁwwuﬁwwﬁwﬁm{

Vit wEnis® @ Ty
(2) ¥ e faera P () 1968
(b) Yt foa Frm (i) 1969
(© o=t va P () 1963
(d) wEm Jund fasra denr (iv) 1958
it 3y

(3 () () (&
(1) @) @ v @)
@ (v @) @) @
@) @) v) O @)
@ @ @@ @) @)
Match the following and select the correct code :

Agricultural Corporation Year of commencement
(a) Agricultural Refinance and Development Corporation (i} 1968 -
(0)  Agriculture Finance Corporation ' (i) 1969
(¢} Agriculture Credit Corporation - (i) 1963
(d) Small Farmer Development Agency iv) 1958

Answer Options :

@ ® © (@
(1) @) @) @) 1)
(2} (v) @) () @
@ @) ) @ @
) 0 @ @@ @)
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75.

40 A
(@) =W () iEE (© opidER (@) e
wartelt e ;
(1) (a) v - 2 (a) 3 o)
@) (@) (b) 3 (o) @) (@) () ¥ (d)

The absolute cost advantage theory measures the value of goods through ___

(a) Labour {by Capital {c) Land resources (d) Technology

Answer Options :

(1) (a) only (2) (a) and (b)
(3) (a), (b} and (¢) @) (a), (b) and (d)
76, we a faumRE SR deg o

(@) 1952 T 2012 T FSM AW Tl AT 500 TEI AU Ao .

(b) mmwm@%mm@mm

wratdt e :

(1) % () 2) 9 (b) @) @ @ @

Which one of the following two statements is correct ?

{a) The fertilizer coﬁsumption in India has gone up more than 500 times from 1952 to

2012.

(b) Because of the bumper production India does not have to import fertilizers any

more.
Answer Options :

(1} Only (&) | {2) Only (b) (3) Both {4) Neither

HEET FIHEIE TR /SPACE FOR ROUGH WORK
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77.  Sirem et dw gan frae
(@) Tree wd ey @ e T
) qETHE @y (i) ek
() udtwd fagh (i) e farel
(d) seimiad =R (iv) 3few fiy
il 36 :
@ (b) () (@
O 6O @ @ @)
@ @ O ) @
@) @ v @ o
@ ™ @ @
Match the foliowing and select the correct code .
Trade Theory Economist
(a) Absolute cost advantage (i) Paul Krugman
(b) Comparative cost advantage (i) Habeuler |
(c) Opportunity cost theory (iil} David Ricordo
{d} Intra-industry trade (ivy Adam Smith
Answer Options :
@ (® © @
O O @ @ )
2 @ @ ) ()
@) @ @) @) (@
@ @ @ @
HTBA1 SHIETEE W /SPACE FOR ROUGH WORK
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e 2 PR o W a2
(a) T H@ TS I FIUR IV GT 19517 2010, 25% TR 20% i wH e,

(b) EES HIOTATEE! YW G 1951 | 2010, 50%@%@3@%%@%@
1) 9 (a) @ %= b @) @& (4) TR
Which one of the following two statements is correct ?

(a) The proportion of agricultural labourers to the total workmg popuiation fnas decreased
from 25% to 20% between 1951 and 2010.

(b) The proportion of cultivators also declined from 50% to about 30% m the period.
Answer Options : \
(1)  Only (a) (2) Only (b) (3) Both  (4) Neither

79. i G P AR S a7
(a) WA T FE | T0eAtor foshre SR ST 1982 el e,
(b) e T il T 1973 W el |
it T |
O FEE @ wWEm ) W @

Which one of the following two statements is incorrect 7

(@) The National Agricultural and Rural Development Bank was established in India in =~ !
1982. | | | f

(b} The Regional Rural Banks were set up in 1973.

Answer Options :

) Ony@ () Only) (3) Both (4) Neither

eIt HIWTATE! ST /SPACE FOR ROUGH WORK
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80. ydiel € fawmient iy avetvy o2 ?
(@) gs fe W IS SO 6 - 7% HTE e Tdet FW F,
(b) SR HEE GET 49.7% TEAT TR YR e,
it S9N
1) F9B (a) 2) Fa@ (b) @ TR (4) e
Which one of the following two statements is incorrect ?
- {a) In United Kingdom and United States only 6 to 7% of the working popaiat}on is
engaged in agriculture,
(b) InIndia49.7% of Indias work force is provided with employment by the agrzcuiturai
sector.
Answer Options !
(1) Only (a) (2) Only (b) (3) Both (4) Neither
81. TiT < fayride) Hvm 9y ang?
(a) wTRETE SR SearEEwar SNsn FH AR (2010),
() i sur soewa awansn fHdad afew el (2010).
i T :
(1) ¥ (a) 2) FF (b) @) o= (4) wwd
Which one of the following two statements is correct ?
{a) The productivity of Sugarcane in India is lower than that of China (2010}.
(b) The productivity of Sugarcane in Egypt is much higher than that of India (2010)
Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
g2, =M SEmeia FafiuEt S T wevm e yredet wet word ?

(1) R AE, AT (2) A, T, MFAAR

(3) HFAIR, A, R (4) R, o, e

What are the Towns of Export Excellence for leather products recognised as such ?
(1) Kanpur, Jaipur, Srinagar (2y Udaipur, Pahalgam, Gaziabad

(3) Kanpur, Dewas, Ambur {(4) Jaipur, Chennai, Chandigarh.

ol HIAIES W /SPACE FOR ROUGH WORK
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83. fefromder frerw Fdyieta (GDI) Svrear S fwr S say?
(a) T srifer awgaf
(by fFeraimedier die wmerar sftr wremH TR o
() TomaR w=r so= -
(d) e % wEn femis s
e T -
n (@ 0 (9 2 @6 B OO0 @ @0«
What are the dimensions of Gender Related Development Index (GDI) ? ;
(a) Fernale life expectancy
(p) Female adult literacy and gross enrolment ratio
(c) Female per capita income . o .,
(d) Percentage of females working in agricultural fields . -

Answer Options :
1) @ 09 2 (@ b)© @ &)@, @ @00 d

84. THAEI W STETH WIHRLT SoaT=l &l | ¥t TG gHvend Haiad 3R

(@) Tafrrr o s | () s P d
(c) STYTH H9 R (d) e EREEdE E |
Tt T |

V) (a) 3 (b) @ (@) ©)
® (@) b), © @) @ ©ef@,

The extent of absorption of foreign capital is inversely related to :

(a) Over valuation of exchange rate (b) Under developed financial sector
() Under developed iabofzr market (d) Current account deficit

Answer Options : | :

(1) () and (b) 2 () () and ()

(3) (a) (), (@ and (d) @) (c)and(d) .

“HHoel HIHTEIS ST /SPACE FOR ROUGH WORK
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85. Wt g derw Sywier WA SE-STETE 2004-2005 Tefter fowme fedtay s s
féaa wala arfaw <l 2 |
(1) dig@ (2) 3) ¥ 4y wH

The value of output of which one was the highest in 2004-2005 at current prices of the
total value of output of agriculture and allied sectors ?

(1) Rice {2) Wheat (3) Milk {4} Sugarcane

86. FEiIMe g Wi 3 wiwded Afe I o Foea s o w adem avd wiadwm
R SeeEen sTeaed & 1980 Wel fylay fawrd & i wevew ameef! it e eveaer
it e 8 ?

(1) ot 3w wifads (2) s Sy vfadss
(3) ool EnEfaw wiiws (@) SR sTEaRw wiyds
What was the title of the Brundtland report that defined the term sustainable development,

for the first time used in the world conservation strategy presented by the International
Union for the conservation of Nature and Natural Resources in 1980 ?

(1) Our bright future () Our dark future
(3) Our common future © {4 Our uncommon future

87, wrd Fmivr FERER 2005 9@ T TR SRy g wiven snga ?
| (a) wafdss g gofio W

(by oy Framyy

() urdior qrofigeaat

(d) urdftor fergtenor

(e) Twfo Eead

w36 _

1) ®) @ ) o ) @ () ) (4

(G) (@) © (@ (e (4) (&) (b), (o), (d), (e)

What rural infrastructural facilities are included in the Bharat Nirman Programme 2005 ?

(a) Trrigation and Rural Roads

{b) Rural shelter

(¢} Rural water supply

{d} Rural electricity

() Rural Telephone

Answer Options :

M o) © @ @ @ ), © @

3 @ © (d) @ @ @ O, @@

HoEAT WIMTETE W /SPACE FOR ROUGH WORK -
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88. Aoy e e H,
() IOy T iR faageersr
(b) foaw Tt fampst
() s e g
(@) fFrafdei faagee

uyiet 3at
1 @ © @ (@) ®) = ()
@ () @ @ ()

The International Development Agency (IDA) helps in :
(a) Financing rural infrastructure

(b) Financing drip irrigation

{c) Financing marketing facilities

{d)} Financing exports

Answer Options :

® @0 @ @ ®andE
@ @@ @ ®

89, SIENUEIY SR dFg-Iget fagien EE Haitue 9

(1) qermers e gty

(2) wew Rowh faga

@) T v fagla

@ IF-2W erw-ay fagi |

Hecksher - Ohlin theory of International Trade is also called as
(1) Theory of Comparative Advantage

(2) Factor Endowment Theory

(3} Theory of Absolute Advantage

(4) Multd-Country-Mulii-Commodity Model

| SYET TS T /SPACE FOR ROUGH WORK
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90. e Sfewied s 2.
(a) rerg snide Ty
(b) Towwar &t
() fafrm @ v
(d) wHfew @mETT

- wEldteE:

(1) (a) 3107 () 2 @, ®) (9 3 @ O @ © @
The SAARC objectives include _
{a) to accelerate economic development
(b} to reduce in-equality
{c) to stabilise exchange rate

(d} collective self reliance
Answer Options :

(1) (a) and (d) @ @ b)© 3) (@ b % (@
91. 4 2000 =1 anfaEETen Yitwed snfhar wwHftwr gEEn e Sae 2.

(a) Topmed wefan

(b) wufersa asfad

(c) urg Fiuis aefau
(d) w-fadedh T vefaw
it 3w

1 @ O @ @ ®)© @ @ © 4 © (D
The ASEAN Summit in 2000 launched the Initiative for ASEAN Integration (IAI) to

(a) reduce development divide

{b) enhance competitiveness

{c) improve human development index
{d) reduce crime against women

Answer Options :

1) @ o 2 @ &) @© G @ © @ © @
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92. ydia g faumidet Hv sty ame ?
(a) IR OYIE ST wata wfter Srge sRand SEndie 17% oY o, WIERr 10% | W

TEAT TR SR,
*(b) e Rt EAA WIRATSAT TYEATET T A AT ST IR,
et 3 ; |
1) FWe@E @ FTWEE @ W (@) FRETE

Which one of the following two statements is incorrect ?

(a) India is at the top of the World with 17% of the total livestock population. China
comes second with 10%.

(b}  The contribution of livestock in India to the national income compared to the other
countries is insignificant.

Answer Options :
(1) Only (a) {2  Only (b) (3) Both {4) Neither

93. 2013 =T U WY drre SfEera i TR SR,

(a) ~ WYIEF SeUREFHAl S

(b) GwTEYE fawm

(¢} wi-ggiEm

(d) Tmvor Seow Tearmar ol w0l

it I

(1) (a) (b) 2) (@) b e
- @ © @ - @ @) (© s (@
: The objectives of National Livestock Policy of 2013 include

(a) Improving productivity of livestack

(b) Inclusive growth

{c} Gender empowerment

(d) Reducing income inequality in rural area

Answer Options : |

(1) (a) b) (2} (&) (B)and (0
G © @ 4 (@) (¢)and (d)

HEET HIUHES W /SPACE FOR ROUGH WORK
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94, Y@ < fauER HVR s My
(a) ek SYIEKER VIETET SR A 1987 31 2004 WEH wRegs afEe,
(o) T 1995 UREH 2003-2004 T =R A gAR fiore s,
(1) %43 (a) (2) Fam(b) 3 = (4) TR
Which one of the following two statements is incorrect ?

{a) Indias Trade Balance with the SAARC countries from 1987 to 2004 was always
positive. -

(b) Since 1995 the Trade Balance has grown about three fold upto 2003-2004.
Answer Options :
(1) Only@ (2} Only (b) {3) Both (4) Neither

05, e A Faereridia Fo W AR 7
(a) AR 1951 <A1 SFFHITYR &0 « JHI07 TOIRK 1 : 5.3 8.
(b) WIRAW 2011 =41 SFRIFOER Y84 : AHT0 TR 1: 2.2 TR,
it 36y :
(1) +9% (a) (2) a3 (b) (@) o (4) wE R
Which one of the following two statements is correct ?
(a) As per 1951 census Urban : Rural ratio in India was 1: 3.3
(b)  As per 2011 census, Urban : Rural ratio in India is 1: 2.2

Answer Options .
(1} Only (a) (2} Only (b) | (3) Both {(4) Neither

96. WM FHl SrTHur YRR (ICAR) ¥Ra widued weltus snfir witrw foamamgR s fvs
AT I SHEEAAER ¥ 1951 - 2014 N HTGEEE Z 96 Al AR,
1 4 @ 3 (B 6 @ 7

The ICAR has played a pioneering role in ushering green revolution in India through its
research and technology development that has enabled the country to increase the
production of food grains __ times since 1951 to 2014.

o 4 25 | (3 6 @ 7
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97. W%ﬁwaﬁzﬁ%ﬁﬁm%ﬁwwvﬁﬁmmﬁaﬁm% TR M
wraen Frisenaret uften wider ofa wiorc 99l IR e ?
(1) 2001 (2) 2002 (3) 2003 (4) 2004

Agricultural markets in India are regulated through “Agricultural Produce Market
Cormunittee Act”. In which year was the first model APMC Act passed in Maharashtra ?

(1 2001 @ 2002 (3) 2003 (4) 2004

98. e A A FR srei o ?
(a) e TS S YR 0.8 3E IR,
(b) F.TH.3, = el FHE gROT Sy gorna e g e sfuw e,
watdt I ; |
(1) +92 (a) 2) F9% (b) @) == @) T
Which one of the following two statements is incorrect ?
(a) Our average size of holding is 0.8 hectares.

(b) ~ The average size of holding in USA is more than fifty times that of India.

Answer Options : |
{1) Only (a) {2) Only (b) (3) Both {4) Neither

99. e 2 vt o e a2 ?
() WW%WQ%&W%@H@
(b) 3wy S W Few 9 uiriw i 9w
- it e
m FEE @ F@E ) AT (9 e
Which one of the following two statements is correct ?
{a) Short term loans are those that are granted only for 12 months.
(b}  Short term loans are those that are granted only for 9 months.

Answer Options :
(1) Only (a) (@ Only(®) (3) Neither (4) No period is fixed

FHERT WIWMEGI WFT /SPACE FOR ROUGH WORK
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100. sTRyer TuEifie drmaed Fr i ey Sl gued 4 e sfvgden ym Cus
! fawmm A’ 2007 - 08 INHEY G HIAR S,
(a) 1 dma s fafire rmer fawre srfia =,
{b) wmmmm%q@

vt Ty
(1) F9E (a) A (2) Fa® (b) A
(3) WA @) T A

With the object to achive 4 per cent growth rate in agriculture and allied sectors during
11th Five Year Plan, the “Rashtriya Krishi Vikas Yo;ema” (RKVY) was started in the year
2007 - 08.

(a) It does not envisage development of any particular region.
(b) Saffron Mission is not covered under the scheme.

Answer Options :

(1} Only (a) is right (2) Only (b} is right
{3) Both are right (4) Neither is right

101.%&?&&#,3%&%(%@&%@%)%,@%%@@%_@@%@%
JHUTTER Ay TE ?
(1) et 13§ 18 T8 2200 (2) TR feEa-2200
(3) T EOTA fEE 2600 0 (4)  AwE wod T

Which daily calorie requirement (k.cal.) is mcorrect as recommended by the Numﬁon

Expert Group of LCMR. :
(1) Girls 13 - 18 years - 2200 (2} Pregnant women -~ 2200
(3) Lactating women - 2600 {4) None of the above '
102. Mmm&%wmma&%aﬁaﬁwﬁa&mﬁwﬁﬁ T SR WR]
Bl L GREL RS CRE R
1) T3 el (2) T 1wt frel
3y T2ud feed @) T4y el
Subsidised price under Targeted Public Distribution System for wheat is for a
period of three years from the date of commencement of the National Food Security Act
2013,
(1) RT3 perkg. (2) T1lperkg
(3} T 2perkg 4 Zdperkg
THEAT FIEE S /SPACE FOR ROUGH WORK |
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103.

52 A
Tttt wordt e Rt omre /Yol FtvargE yra TR g wwW) ?
YR LI CRERE
© W
() dufrs fFmm
i
(1) () =T () 2y @ (3)  (v) 3 (c) 4 ©
Which crop price is announced before sowing of the crops by the Govt. of India ?
(@) | Support price
(b) Procurement price
{(¢) Statutory price
Answer Options :

@ @ad@® (@ (@ @ Gad@ @ (©

104.

U qeaE die FRETEED Y@ o Tl won faume stdiy R ?

(a) wr wEww FHerla Durfors wmfirda gunE snfia R,

(b) € e Heam o RIS R Wy TEAi e ar w A Rl R,
H’ﬂfﬁ?ﬂ:{': |
(1) &He (a) L@ @ (b) (3) A (@) wwd T

Which one of the following two statements regarding National Mid-day Meal Programme
is incorrect ? : ' '

(@) Improving learning achievements of school children is also intended in the
programme.

(b)  School meals are provided in some areas however take home ration is the norm in
the majority of the states. '

Answer Options :

(1) Only (a) () Only (b) (3) Both (4) Neither

HEAT HHMEE WO /SPACE FOR ROUGH WORK
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105, 2003 - 13 1 SIwEE SRar= Wavl SR =T o faud w5l
(a) Trakita sfyrn wam wHiER S,
(b) Seifen aege Fafdidia drmer e,
(c) Aoy ag Fraldide dem aws,
(d) aafcrdaa faf e,

uFigt Y
1) () 30 () @) (a) () & ()
® () () ORROEUREC)

The composition of India’s Foreign Trade from 2003-2013 shows that :
{a) Asia is a dominant pariner in export :
(b} Contribution of manufactured goods in exports has risen

(c) Contribution of petroleum products in exports has risen

{d} Export to USA has increased

Answer Options :

(1) (a) and () 2) (&) (B) and ()

(3) () and (@) ) (a)and (d)

106. mwmwwmwmmm :
(a) Tafay frsien sremeg Rt
() TeEr= snasfas anfor qEer yitferd
(¢) mifes savarofee migd
(d) <eierta AR favas wifEd Mo F0 9 TR0 T
i Fy
(1) (a) faam By Ak, () (a), (b) faur A anda.
@) (@) @), (d) furt dra . 4) (@), (0), (¢}, (d) Foeam Ay smea.
AGMARK NET is an information system providing farmers with the details regarding :
(a) latest prices of important crops.
- {b} consumers preferences and supply position.
(c) information on global trade
{d) Nation wide market information, collection and dissemination.
Answer Options ; o _
{1) (a) is correct statement (2) (a), (b) are correct statements
(3) (), (b), (d) are correct statements {4) (a), (b}, {c), (d) are correct statements

FHoAT FHTUTES! W /SPACE FOR ROUGH WORK
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107. e wtfardymd e €99 faumitst s drg aR?
(a) &y T yohed § & Yoo anta STl @d ¥ 10 @@ A ok,
(b) T FimT T TEUS ¥ Wew da wiE @ ¢ 10 W} dun HuE S
it 3w
W Fo@E @ FEEQ @ (4) TR
‘Which one of the following two statements as per the previous classification is correct 7
{a) Minor Irrigation Projects are those projects which cost less than X 10 lakhs.
(b} Major Irrigation Projects are those projects which cost more than ¥ 10 crores. -
Answer Options : .
(1) Only (a) @ Only (b) (3) Both (4) Neither

108. Eid B faumits R Ay o ? ,_ ;

(3) 57 2014 15 0 i e AR TS A o 2 1550 T fae s
fuftraa et T, |

() gfpmaEt o STRET ¥ 4000 3.
Tt e
1) ¥ (a) @ ¥ () @ & @ TR
Which one of the following two statements is correct ?
(a) The minimum support price for Jawar Hybrid is fixed at ¥ 1550 for the crop year

2014 - 15.

{(b) That for the ground-nut is ¥ 4000

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
109. T 2012 -13 1 Tuid TS - HFAS THOT INEA B B,
) 25713 ToEw T (2) 26438 YW A

(3) 25932 70@¥ €9 (4) 244.49 TIWY T

The total food grain production of the country during the year 2012 - 13 was

(1) 25713 million tonnes (2) 264.38 million tonnes

(3) 259.32 million tonnes (4) 244.49 million tonnes

FHEAT FWTATS AW /SPACE FOR ROUGH WGRK
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110, €% FERUFHET T @Y 8 ?
(a) FRITTERIE €Yol ST Yo T awel MEATE! T TRk AR
(b) TRIER AR FAET T HIE: IF TR
(c) TITE! Wd TEvITE Hess! e W,

. (d)y gafEi e T,
1) e (b) | @ @7 @)
@) @ GaI@wERE @ @, ), @@

What is true of the bonded warehouses ?

(a) The importer does not have to pay the erntire customs duty at a time.
(b} The importer can take delivery of the goods in parts.

() Care is taken that the quality of goods is maintained.. ..

(d) Re-export is possible. -

Answer Options : \

(1) () only (2) () and (b) only

(3) (), () and (d) only @ @) ®) and @)

111. H3Eeie enfegs Heeminsd aedifers. sraeiear ol -
(a) onfraw werd arEw o fmfo
(b) =T onfraE wewn -
(c) el srupwgie welert o famfoy |
(d) STUREAEIE! ST ereld ST TR
M ®)yaf (o @ @@ G mAEaT@ @ (@A
Sensitive Nuclear assistance includes : S :
(a) assistance in desagn and construction of Nuciear Weapons _
(b} civilian Nuclear assistance.
(c) construction of power reactors and research thereon. -
{d) interstate transfer of weapon grade fissile material. -
Which of the following combination is true ? _
(1) Gjand(c)- (2) (@and(d () (byand(d) 4) (a) and (c)
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112. m&ﬁaﬁﬁa‘m&s‘w%mﬂmﬁz@mw&?

(1) W (2) wES (3) afit® =g (4) TERAN
Which of the following is not a source of hydrocarbon fuel ?
{1y Coal (2) Wooed . {3) Natural gas (4) Gasoline

113, W TR TeWrTede FOed A fedt e 3
1 -50°C @ -10°C (3) -—65°C 4 -78C

What is the average surface temperature on Mars ? :
By -~—50°C (2) -—-10°C 3y -—-65°C 4y -—-78°C

114, R suEl axieta! s wai g ?
(1) SouE Tagaedy vou ud .
(2) < yEta e wud .
(3) SUUE FETH T AT AR,
(4) STE TR TRV A M,
What is the limitation of the geostationary satellite ?
(1) It does not see the equatorial region.
(2) It does not see the polar region.

(3) It does not see the Tropic of Cancer region.
(4) It does not see the Tropic of Capricorn region

115, Iomfa ashie Fear Sre Eeee W Ty SIven FRd yeelid e s ?
(1) 350 faefi St 9 35° smfaae
(2) 250 fedt ST 7 35° aMfaEt

‘ 3y 350 fft I g 270 e
(4) 317 Tt I9ER g 33° STAfoER

?ropical Rainfall Measuring Mission {TRMM) satellite was launched in a low orbit at
a )

(1) height of 350 km and an inclination of 35°
(2) height of 250 km and an inclination of 35°
(3) Theight of 350 km and an inclination of 27°
(4) Theight of 317 km and an inclination of 33°

ST ST TR /SPACE FOR ROUGH WORK
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116. @i s 9 9 g sy sy fads T2

(1) =l (2) s I/IF (3) =% I/IA (4) =& IR

Which of the following is not a GPS satellite generation series 7 _

{1} Blockl (2} BlockII/ITF (3} Block II/IA (4) BlockHIR
117. T W amregrgean fafaol e qor vfomr oy, awred il o

(1) sreE (2) wEERE

(3) T 4 3=

An important consequence of scattering in fusion plasmas is radiation, which

refers to the process of radiation emission when a charged particle accelerates or
deaccelerates.

{1) Bremsstrahlung {2) Microwave
(3) Gamma 4y UV

118. S w o FomE ToTe S ovEwE yREE Wl I (P,) @ wiedEt S

I el W 2
NP 5@ x T 2 P ECREEE(|
o — QM —
@ Po - ) i
P TqE X A P TG X T
@ Fo =g @ Fo=—Fp
 The energy of water per second (P,) required in hydroelectric system to generate electricity
is given by :
Force x Pressure Force x Height
(1) PO o2 ﬁme — (2) -PO B . mne
Force x Velocity Force x Density
@ Fo = time ' @ Fo= time

TSl HETETS WM /SPACE FOR ROUGH WORK
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119 mwmémwﬁamaﬂ% Wﬁaﬁtam>

e o233 (2) BPEm-5 (3) WEEM-238 (@) REEE-239

Enriched Uranium means Uranium that is ennched in isotope. Out of foliowmg which
one is it ?

(1) Uranium - 233 (2) Uranium- 235 (3) Uranium- 238 (4) Urandum- 239

-120. iifers wed, fefwea w=mn @ <1 HEE Yl W A

O stdtwm (@ dRdww @) Hemwm @) gy e
The key element of ___is the geo-referenced, digital map.
(1) GPS (2) DGPs 3y GIS (4) remote sensing

121. e G Ykt hIvR Fererm o I 7
(@) X nft SR arEe TRarRT T TEeT FOR ST e <9 A
(b) e HITATN 3000 Afgeh =7 P o 10 ke haa s o=
et 3w
(1) 2 (@) (2) % (b) @) T (4) THE T
Which one of the following two statements is correct ?

~ {(a) Canada is the third country to supply Uranium to India, after Russia and Kazakhstan.

{b} As per the agreement it will provide 3000 metric tonnes of Uranium over the comming
10 years. f

\Answer Optmns
(1) Oniy {a) (2) Only (b} (3) Both {4 Neither

”122. srpelt aroft areferoarane aratvar o i wown verd waten OR S v 9 #5602

(1) i ug (2) T T (3) wI= FwE (4) fewm
In case of domestic solar water heaters, which is the best solar absorber ?
(1) Cu plate (2) Black paint (3) Black chrome (4) TINOX
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123, SRS gaten giged srgdd o wid Tom SR s s Sure 313‘%'?
(1) teT (2) v (3) sritfE @ o

Which nation has the best configured and operated electricity grid in the world ?
(1} England (2) Germany - {3) America {4} Russia

124. W SAfeork ot wwiaRer 9 windd SN Sl SoaTEia g I gRT g
weflader e gl grdfte TraaT T ST He ST,

(1) 1 & (2) 1.2 fet (3) 2 f&e (4) 35 fed

Ocean Thermal Energy Convexrsion (OTEC) process makes use of the difference in
temperatures of warm surface water and very cold water at a depth of

(1) 1km () 12km (3) 2km (4) _3.5'1@

125. 3TV S9vIREATE AR SHa1 [l 3R ? |
(1) 3500 fedt. (2) 2000 fa. (3) 5000 fedt, (4) 5500 fedh.
What is the range of Agni V missile ?

(1) 3500 km 2y 2000 km {3y 5000 km (4) 5500 km

126. 1 T o Tl mfed % wavee S 39, wd fowml, g, ud
(1) e whg (2) ReR™iteE WAL
(3) feetepes whgdn (4) oz wiegdm

i8 a new generation of computing, which takes into account the environment
in which Information and Communication Technology is used everywhere, by everyone
and at all times. '

(1) Mobile Computing {2) Pervasive Computing
{3) Distributed Computing {4) Grid Computing
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S e B A FET SR e ik < i A o e Fre i, e
TR WO S SaTes TETeT Vs v el Fratvr s, famnoraen

(1) wugdd 2 waAdAd 3 wad (@) S

When a mail transfer program contacts a server and forms a TCP connection, the two
programs follow the that allows the sender to identify itself, specify a recipient
and transfer an e-mail message. .

(1) SMTP @@ HTIP (3 FIP @ TCP

128.

6/ 7R HTA. B SYENT AR ey, e et gl deds wriem awef :

(1) ey | - @ @9 g v faen)
3 stegad NORECE

application increases the productivity of business managers, developers and that of the
whole organization, ’ :

(1) OLAP . (2) TPS5 (Transaction Processing System)
(3) OLTP (4) Data Mining

129

mmwww%w@ﬁ%%w%@%w
Bl e AvaEzen 42 dvarardt gu A §-Hed efEe S,

1) swm (2) T
(3)  TrEsi (4) Fegew fesfin

is a type of cyber attack in which e-mails are sent to a large number of people
asking sensitive information or encouraging them to visit a fake website.

(1) DOS (2) Phishing

(3)_ . Ransomware (4) Spear-phishing
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130, wifeat S99 SRET 2000 Id d@ve €T Sea firan R,

(1) R 2 FY e I/ SIS S 1 T w9 18,

(2) wWE 3 A gETar STl AuEr U 2 g B €S,

(3) W 39N gETar Infvl/ FUa W 1 EE € Y €S

(@) wure 2 9¥ girarg snfoy/ See w9 2 S €98 €T

According to IT Act 2000, punishment for hacking the computer system is
(1) imprisorunent upto 2 years and/or fine upto 1 lakh rupees.

(2) imprisonment upto 3 years and/or fine upto 2 lakh rupees.

(3) imprisonment upto 3 years and/or fine upto 1 lakh rupees..

(4) imprisonment upto 2 years and/or fine upto 2 lakh rupees.

131. Y& 9 faemits! Fi = aR 2
@ WWW%WWWWW
(b) e @ yfpa Faw i F SrarE) wmeRas. K

Tt I |
() ¥ @ @ ¥ @ W @) wam

Which one of the following two statements is correct ?

{a) The process of solubilization and extraction of metals from their ores by the micro-
organism is known as Bioleaching.

(b)  The process at present is used only for copper and gold.
Answer Options :

(1) Only (a) ) Only(®) (3 Both @) Neither
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132. mﬂmamw@wmmw g@”fa dn faamr%ﬁ ﬁmﬁ a‘m:
R

(a) sﬁwm~%~mﬁw.
(b) g T SRR T TS WE T,
(1) ¥ (a) @) ¥ () @ @ @

Fruit bats are thought to be the natural Ebola virus hosts. Which one of the foiiowmg two
statements is correct ? .

(a) Ebola also spreads through human-to-human transmission.
(b} However a dead human body cannot transmit Ebola.
Answer Options._: |

M Ony@ @ Ouy® () Both (&) Neither

133. Yéiw 39 fauritet Fo a9 R ?
(a) WWWWWWWW(W)W%
(b)) R S FROATRIS S AR .

1) ¥ (@ @ ¥=p) (3)-.a% C w wem

. Which one of the following two statements is correct 7 o
:(a).. Antigens are produced as body's fu‘st line of defence against a. vn*ai attack.
(b) Antigens are used to fight cancer.
Answer Options :

(1) Only@ () Only®) 3) Both (4) Neither
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134, Gelt fadren e % eared wiow YOOI SR SeE e Yo
JERH, ST G Fored] FRIEH TR e, Bie FArme S g geeh il foawmm st
. ﬁ?ﬂaﬁ,aﬁﬁqmﬁmwﬁﬁéwﬂﬂ@ ST o AT YHTINER ST S 2.

(1) ThEIM €u e gearR |fid
(2) vy et aler serEn wftd
(3) g sttt wer afad
@) dewEs e g i

From the options given below, is constituted to permit large scale production
of rDNA products, as well as use of genetically engineered organisins, research and
development of tDNA, release of genetically engineered organisms into environment and
making use thereof in India.

(1) Recombinant DNA advisory committee
{2) Review committee of genetic manipulation
(3) Genetic engineering approval committee

(4) Institutional biosafety committee

. 135, e 2 faamitst Fo) g om?

(a) e Tt St A Y EfTen T SR e,

() @ FadT —4°C W AIEET FE

b 3 |
(1) F9% (a) (2) *E (b) @) & (4) AT
Which one of the foﬂowing two statements is correct ?

(a) The technique of preserving tissue or cells by freezing and storing in liquid nitrogen
is called as cryopreservation, '

{b) The preservation is done at the temperatures of ~4°C.
Answer Options :

(1) Only (a) () Only () (3) Both (4) Neither
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136, @ehed! o yiear € s e Savarsia 9 s ?

(1) oy et . (2) wEwd THEryg S
() T RS AN (4) SR S T
Which of the following methods is the most suitable for the preservation of food
products ? |
- (1) Gamma ray irradiation " (2} Exposure to liquid N, Nitrogen

(3) Treatment with Fthylene oxide (4) Exposure to ethylene vapours

137, e 9 et Aoy A eR?
(o) e Sk s T o e % e
by P & S e S e
e | |
(1) 9@ () (2) w5 (b) @) YR
Which one of the following two statements is correct ?
(a) Gregor Mendel performed the experiment Qf inheritance on the plant of pigeon pea.

(b) Pig is the focus of most effects in the field of Xenotransplantation.

Answer Options :

(1) Only (@ . (2) Only () (3) Both (4) Neither
138, o ? it quRE arifem (R wifewne srifEA) ‘-na%
) WA A Q) WeeTade (3) T OB co

is not a Genetiéaiiy Modified Organism (GNO).
(1) Bt Cotton {2} Golden rice -~ (3) Tracy (4) Pomato
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139. BT €1 faumits! FIo@ 9y o ? |
(a) ST amadl o1 IrETET Shfewe TEwEEe eRsiaue (gemra i) gdyan

¥ fram.
() mﬁa’t 3 oferer WM HeEE! w1 B B,
(1) 9 () (2) 3 (b) (3) < (4) wwE

Which one of the following two statements is correct ?

(a) The first scientist who was granted a patent for genetically modified micro-organism
{(Pseudomonas aeruginosa) is Ananda Chakrabarthy.

{b) He was then working for Wackhardt Pharmaceuticals.
Answer Options :

(1) Only (a) (2) Only (b) (3) Both - (4 Neither

140. gﬁa@aﬁmﬁaﬁmmm? |
(a) 2003 Wl 9IRAW SLE. m%mﬁwwmmmﬁéwm
(b) e (Yag) I Bt cotton YRAW TGAVAERA HEAE ¥,
m w : . | .
1) ¥ () @ Fas (b) 3 I @
Which one of the following two statements is incorrect ?
(a) Commercial cultivation of Bt Cotton in India was approved in the year 2003,

(b} Ranbaxy (Mumbai) imported Bt cotton to grow in Indian soils.

Answer Options :

(1) Only (a (2) Only (b) (3) Both (4) Neither
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(1) AT sEiies mivdeed 9 e v

@) foram s et RIS TEe HEY.

(@) ey = srgaitvr migdeed sew aee.

(@ i e T age Fr e

Gene Therapy is used to treat diseases by :

(1) modifying genetic information m the cells of patients.
(2) modifying genetic information of the viral genome.

(3) meodifying genetic information of the bacterial genome,

(4) modifying the cellular environment in the patient.

142.

yeier O faumitat v T oTg ?
(a) wmwmmmmwm o
(b) wifer Rfaeres ST TER o N S .

it 346y ;

1) FEm @) @ e (b) (3) @

Which of the following two statements is incorrect 7

{a) The causative agent of the Creutzfeldt Jacob disease éausing brain abnormalities
was identified to be a protein.

(b} They are without nucleic acid and are called as Prions. - |
Answer Options :

(1) Only (@) (2) Only (b) (3) Both (4) Neither
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143.. yhe I faurnide) W 9 eng?
() Wasmﬁezémﬁﬁwwmmwwnﬁmg@&rr%:%ﬁra;fgzrwﬁ'

S
(b) S A TP $EATY I HEA WG FUT WA AU
Tt e :
(1) %9 (a) (2) % () (3) o (4) THER T

Which one of the following two statements is correct ?

(a) Mixing gasolene and ethanol in a 6 : 4 ratio has become a popular fuel in mid western
United States.

{b) Brazil produces and uses large amounts of ethanol as an automotive fuel.

Answer Options :

{1) Only (a) {2) Only{b) - (3) Both (4) Neither

144. & o Taymidet e 9 om ?
(a) WIS SN RIS T T SR 8,
(b) e ST § few fame WA B SiRERE A
Tt T | |
(1) &S @) (2) Fu@ (b) @) (4) THE AR
Which one of the following two statements is correct ?
{a) Anincrease in carbon .ajmxide in the atmosphere leads to Global Warming.

{b) Global Warming itself may lead to an increase in carbon-dioxide because of melting -
of ice caps.

Answer Options :

(1) Only (a) (2} Only (b) (3) Both (4). Neither
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145. ST SHIVEH/ S de St v s fad wee s/ 5@ 2
() S et e
) TedeRst W fool
(© T, o el
(d) ST el . e e
Tt B

m @ @ @ B @GO @ @00
| thch of the following funding agencies promote/s Biotechnological research in India ?

(a) DBT, New Delhi o

(by SERB, New Delhi

(¢ UGC, New Delhi

(d) ICSSR, New Delhi

Answer Options :

(1} (a) (2) @ &) () @ O © 4) (@), {) () )

146, -'W%am@rﬁ i WAE, gaé&sﬁ‘aw%aﬁ 267 27 9, 2005 1 T 24 ARITAT
mra o, oft. e g et B,

:(1) 986 ' 2y 944 3y 926 4 912

Inchan Meteoroiogmai Department (IMD) station at Santacruz (Mumbai) had recorded
‘mms of rain in 24 hrs during 26t and 27t July 2005.

) 986 - (2) 944 (3) 926 @ 912

147, Gefieiem! Hom 2aey, 26 fedax 2004 s gretear gt wiern aftom gem e ?
(1) 9 (2) wafeen (3) WRa (4) Ha®

Which of the following countrzes was not affected by Tsunami waves of 26 December
2004 7

(1) Thailand (2) Malaysia (3) India (4) Srilanka
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148. @wRie wdider divy Siiear a1 § gRrdae sy 9 g6t faer

feATeR
(a) 8 "W 2006

(b) 26 S 2008
(¢) 29 ISR 2005
(d) 25 ST 2007

ot 36y

(@ () (0 (@
Q) O G (@) (v)
@ @ @ v @
@) (v} @ @) (i
() @) (v) @@ @

(i)

(i)

(1)

(iv)

FIERIE T 99T 9 U
spuTERns) 17 ateerie wiaw 29 s
e F 100 SEH! ‘ |
SRR i 9 SRR S
YUK 42 A Y, |
HERTSZIES WRATERE weiieisras wreedn
ST Hiiersha 37 Abie ey 9 125 SEH,

ﬁmmmmmm
70 wriaT 7,

Match the fellowing pairs correctly and select the correct‘optifm given below :

Date
{a) September 8, 2006

(b} July 26, 2008
{(c) October 29, 2005

{d) August 25, 2007

Answer Options’:

(@ () ) (@
O @ @ @) @)
(2) (i) @ (@) @)

@) @) ) @) ()

@ ) Gv) @ @

@
()

)

. {iv)

Areas of Bomb blast and deathé

29 persons killed and over 100 injured in 17 .
serial bomb blasts in Ahmedabad.

At least 42 persons were killed in bomb
blasts in Hyderabad’s Lumbini Park and a
restaurant.

Over 37 persons kﬂied and 125 m;ured ina
series of bomb blasts in the vicinity of
mosque in Malegaon, Maharashtra

Three powerful serial blasts in New Delhi,
about 70 persons died
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149. mewwﬁwmmmwmﬁ? '
(1) dfuigs v @) ufEEs vV (@) ufEse VI (4) fwes VIl

Encircled areas in the map indicate which seismic zone according to Indian Standards ?

{1} ZonelV {2y ZoneV 3) ZoneVlI (4 ZoneVIl
O sf' ,z: . nt‘ ss[:‘ . 31" [ 52" 6* 007
i "N INDIA ¥
hedilyY’ SEISMIC ZONES

neger r/ According to Indian Standards Ist 1893-1976

f“’“
IAN
¥l BENGAL ‘ e
; ‘ ) ‘
‘?P‘ ‘

INDIAN
e L

iz ") . " W T TTTTTNE

x.
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150, &t & frarnis! SR 9T SR ?
(a) S I ¥ IRATT A SeIATE S IR,
(b) ET I TR HIAWH FTARA I,
wafdt S |
(1) %as (a) 2) w92 (b) (3)

Which one of the following two statements is correct ?
{a) Barren Island is the only active volcano in India,

(b) Barren Island is located in the North Andamans

Answer Options :
(1) Only (a) (2) Only (b) (3)

NOé

(4) uwd

(4) Neither

~000-
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